
Propiedad Distributiva (H)Use la propiedad distributiva como se muestra para hallar cada producto679 × 7 = 600 × 7 + 70 × 7 + 9 × 7= 4200 + 490 + 63= 4753778 × 3 = _______ × 3 + ______ × 3 + _____ × 3= 2100 + 210 + 24= 2334119 × 7 = _______ × 7 + ______ × 7 + _____ × 7= _______ + ______ + _____= 833555 × 8 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______589 × 7 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______944 × 4 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______625 × 8 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______MatesLibres.Com


